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There wasn’t a parking lot,



How many people were there in

my family eight years ago?




lead-in -~ (ook and say.

"'_" . W_hat is the mlssmg number?
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¢ ) Read and learn.

parking lot

garden




park lot

parking lot
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Presenl the Gramumar =~  Look and read.

A

< AFoyiet There wasn't a parking lot ten years

ago, but there is a parking lot now.

Was there a bridge five years ago?

Y ©,° A Yes, there was.

JU ENng a4 End



Therewas a parking  There:wasn’t a parking (QEfalE 1 CRGICRIVL There weren't five
lot ten years ago. lot ten years ago. trees two years ago. trees two years ago.

Nofe: wasn’t = was not; weren’t = were not.
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 Present the Grammar« Pi¥ Past: Was $Hiepdl Were thereli:¥ .

(fact) There was a bridge five years ago .

singular x 1
Yes, there was.

(question)  Was there a bridge five years ago l/

No, there wasn't.

-
No, there weren't. I




Read and choose.

Practice the Grammar

were wasn’t weren’t

1. There a tower twenty years ago.

2. There five cats two months ago.

3. There two bridges six years ago.

4. There a garden ten years ago.
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There was a tower fifty years ago.

1. There was a book on the table.

2. There were three cars yesterday.

3. There was a parking lot three years agc“
4. There were one hundred sheep five o=

months ago.
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2 years ago

now

1. There wasn’t a parking lot two years ago, but there is a parking lot now.

2. There two gardens two years ago, but there are two gardens now.

3. a tower two years ago, but Six towers now.

4, a bridge two years ago, but now.

train stations
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Produce the gram[nar ¢ © ) Role-play the dialogue.
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There wasn't / weren't...,

but there is... now.
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Today, we learned :

1. New Vocabulary
parking lot, garden, tower, bridge

2. There wasn't.../ There weren't...
There wasn't a parking lot ten years ago.

There weren't three towers five years ago.

3. Was there.../ Were there...?

Was there a parking lot ten years ago?

Were there three towers five years ago?
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